Promotion Examination - 2019
Computer Science

Class — IX
Time: - 12 Hours MM: 40

Q1. Choose the correct option (10 Marks)

1.Computer system has a unit, which dj

: splays th m it.
a. Central Processing Unit plays the result fro

b- memory unit ¢. Input Unit  d. Output unit.

2. A computer system can accept textya| input with the help of.
a. Mouse b. Video Camera ¢. Keyboard  d. Barcode Reader.

3. We can enter the audio from of data into 3 computer system with the help of
a. Microphone b.Scanner c. Keyboard d. Barcode Reader.

4.0ne of the Internet Service provider in India.
a. CBSE b. BSNL c. Microsoft  d. Infosys

5. Files can be organized in
a. Printer b. Keyboard c. Folder d. Mouse

6.Which of the following is NOT an input device? ;
a. Scanner b. Speaker c. Keyboard d. Mic

7. Which of the following can be used for audio-Video Communication?
a. Video Conferencing ~ b.Chat c. Email d Ip Telephony

8.Which of the following is not an internet browser?
a. Google Chrome b. Internet explorer c.Firefox d. Notepad

A

9. Identify a valid email id out of the following. . .
A Jamesmartln@Jamesv'" b.james_martin.james.in  c. james@martin@in d.james martin@james.in

10. Which of the following combination of keys are used for copying a particular file in a folder?
a. CTR+V b.CTR+X c. CTR+C d.CTR+A

Q2 Veryshort answers i (10 Marks)

are there in an Excel worksheet?
Excel formula.
n used in SASI?

1. How many rows and columns
2. Name the symbol used to start an
3. Which type of referencing has bee
" A.Define the term ‘hardware . :
5. What stores temporarily deleted files oty
- 6.Whatis the full form of GUI?
2 N tab that has the optlon to create a new document
8. Define Header. !
9. What is repeated at the bottom 0
10. Give full form of MICR.

our system.

fevery pageofa docume_nt rE
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(5 Marks)
Q3. Label the below Excel

MM - s _.wV_A it
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9. {

Q4. Explain the use of IF() function by giving a suitable example. (5 Marks)
5 Q5. What is the purpose of primary storage in a computer ? (5 Marks) J=

| Q6.Give formulas using examples for:- e (5 Marks)
B a) Sum :

b) Average

c) Todays Date

d)max

e)count
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Time Allowed : 3 Hours
e

General Instructions :

()
(i)
(iii)
(iv)
Y]
(vi)
7y (vii)

(viii)

Q1

03.

Q.4.
Q5.

h>

Q6.

Q.7.

08

Q9

Q.10.

" (i) A SONAR device fitted in

A
Nnug] Examination (2018-2019)

Class - IX

Subject - Science
Maximum Marks : 80

R —

The question paper comprises of fiye sections - A, B, G D a4 & You are to attempt all the

sections.
All questions are compulsory
Internal choice is given in sect;
3 sections B, C,Dand E
1 nu : P e '
Question numbers 1 and 2 in Section-A are one mark quest
one word or in one sentence
Question numbers 3 to 5§ Secti
. n Section- et
about 30 words each. gngih are;two, marks
Question numbers 6 to 15 in Sect; i
ection- uestions. The
about 50 words each. Care three marks q
Question numbers 16 to 21 in Section-D are 5 marks questio
about 70 words each.

ions. They are to be answered in

questions. These are to be answered in

se are to be answered in
ns. These are to be answered in

d on practical skills. Each question is a two

Question nufnhers 22 to 27 in Section- E are base
marks question. These are to be answered in brief.
SECTION -A
Name any two macronutrient required by the plant from the soil. (1)
What happens when rain falls on soil without vegetation cover ? (1)
SECTION - B
(1) Mitochondria is known as the power house of the cell. Why? (2)
(i)  Which organelle js known as the kitchen of the cell. Why ?
List two differences between electron, proton and neutron. (2)
Write any two real life examples of less Impact of force.
_ OR
Define Universal Gravitational Constant. @)
SECTION - C
What will be the new Kinetic Energy of a moving body is its velocity is made 3 times ?
: - OR
A moving body of mass 30 Kg has 60 Joules of Kinetic Energy. Calculate its velocity. (3)
: hods to reduce Reverberation. (1)

()  Name any two met _ !
submarine receives an echo 4 seconds later the signal is

transmitted towards another submarine 3060 m away. Find the speed of sound in

water. _ L e SR A, (2)
State Universal Law of Gravitation with formula and a diagram. Give the relation between
acceleratihg‘due.td,graVitY and Universal Gravitational Constant. : (3)
Clemna e following s soeo i S A e (3)
i T Esii'e‘"s’ﬁcdr'lc':érned-wi-th the conduction of matenals in plant.
(i)  Tissues capable of cell division inplant. :
(iii)  Tissue whiéh‘holds organs in their respective places in an animal.
What is Hybridization ? Why 18 itdone? . : ' (3)

B
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Q.11.
Q.12,

Q.13.

Q.14

Q:15.

Q.16.

Q.17.

Q.18.

s (b) - Prove:F=m.aforabody of mass m Kg having an
Q19.

What are vaccines ? Name any three vaccme and the diseases th
What is balanced dict ? What problem will you face i © o Y Protect us from. (3)
diseases caused due to malnutrition. Not eat balanced diet ? Name a
You are provided with a mixture of naphthalene Which unde } . (3)
chloride. Suggest an activity t0 separate them with €Xplanatigp, argoes sublimation and sodium
(A)  Calculate the Molar Mass/ formula unit mass of tp followr.]d well labelled diagram ~ (3)
o) HNO; [H=1,N=14,0=16] Ing compounds of any two.(3)
(i)  PbSOs [Pb=107,5=32,0=16]
(iii)  CasPO4[Ca=40, P=31,0=16]
(iv) NHs [N=14, H=1]
(B)  Calculate the no of moles in the following (any two)
(i) 64 g of oxygen atom. (0=16)
(i)  27g of Aluminium (Al=27)
(iii) 110 g of carbon dioxide .(C=12,0=16)
() Define Isotope with-aﬂd ex'ample -and give one application of isotopes. (3)
(b) If Bromine atom is available in the form of say, two isotopes [Br[49.7%] and
¥ Br[50.3%]. Calculate the average atomic Mass. —
OR

(@) Define Isobars with an example. 3) q
(b) Calculate the no of molecules of Sulphur(Ss) present in 16 g of solid sulphur. [S=32 ]

SECTION-D
Draw the electronic structures for the following element :-
(i) Silicon( At mass = 28) 2. Phosphorus( At mass=31) 3. Nitrogen (At mass=14) (3)
(ii)  Give two differences between physical and chemical changes. (2)
OR
Write the electronic configuration and valency for the following elements :-
(a) 1.Magnesium 2. Calcium 3.Argon. (3)
(b)  Give two differences between compounds and mixtures. (2)
(a) Draw and explain the Bohr’s model of an atom.
OR
~ Rutherford’s gold foil experiment. c

(b)  Write two characteristics of particles of Matter. . 4s. Find th : (5)
(a) A bus decreases its speed from 90 km/h to 36 km/h in 5 seconds. Find the acce eratzg;]

of the bus. : 3)

(b)  Draw waves for the following :-
~ (i)  Toshow Low and High frequency waves.
- (ii)  To show Soft and Loud sound produced by waves.
: OR

(a)  Giveany four real life examples of Third Law of Motion.

3CCElerat.ion' of armnéi?riz&he light of
(a) - Some activities are listed below . Reason out whether work is 4On€© (2)
- yourunderstanding:-

(i) Sumais swimming in a pool. nce of sun.

(i) A plantis-carrying out photosynthesis in the prese

(iii)  Anengine is pulling a train.

(iv)  Asailboatis moving due to wind energy-
(b)  Explain, how and which type of energy trans

pendulum oscillates. [Draw a diagram in support]'

imple
, kes place when a simp
formation & (3)
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Q.20.

Q.21.

Q22.

Q.23.

: Q.24.

- Q25.

; Q.26.
027,

: () Mixtures of iron fi
(ii) =~ Compound formed

Global warming, biodjyay.:
AmElyertng fO“O‘Wingdcll‘lll(teersl-ty Conservation and pollution :

warming, Why it is c lstlon Wwith regal’d to thes;; issues. Name the gas reSPOI’lSlble for g]obal
ol are its drastic effect on our

environment ? How cap y,q prt;he greenhouse gas 7 What =
vent it ?

are serious environmental issues,

OR

Nitrogen
fixation

Ammonification

Nitrificat
cations Nitrifications

Atmosphere and
industrial fixation

The above di S e
0 Drawla':}%ran; shows a simplified biogeochemical cycle :-
2 e above cycle and fill in the blanks to complete the valid cycle.
(u) Name the cycle which is depicted ?
(}“) Name some micro-organism involved in this cycle.
(1) What are cryptogams ? How are phenerogams different from crypto

gams. Name any

: two group which come under cryptogams with one example each. (3)
(i) A blue whale lives in water and a bat can fly still these animal are grouped together.
Name the group and state the basis of their grouping by giving three points. (2)
SECTION-E
sty f e )
%&'}drical

Do

ganism shown in the picture and write its common and scientific name.

(i) Identify the or

(i) Name the phylum it belongs to.

(iii)  Which organ of the digestive system is normally_harbored by this organism.
: de of animal tissue under a microscope, Aseem observed thread like

While observing a sli ; r - : . )
structure of dentrites. Which p0551ble animal tissue is Aseem seeing? Draw the structure of this
: : (2)

‘tissue and label it : .
is introduced into the Bunsen burner. Write two observations and

A strip of Magnesium‘metal ;
explain them with proper reasoning. ; . (2)
What is observed when @ magnet is moved Over:- (2)
lings and sulphur?
(FeS) after heating of iron filings and sulphur?
\ - i Echo.
i ; ditions for the production of I _ (2)
e O S o ujse through liky (Pwo ends oflinky are A& B) 2
(i) Which type of wave is prbduced in slinky ?

nich:typ e A to another ends B?

¥ n going from One & :
0 e e 1 e ey i

(iv)  Define pulse.
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ANNyay, EXAMINATION - 2019
CLASS - IX

SUBJECT-ENGLISH
TIME : 3HOURS J GLIS

Instructions:- \

1] The question paper hqs .

MAX MARKS : 80

Section A - Reading Skills

20 marks
Section B - erting skill ang Grammar 30 marks
Section C - Literatyre and Long Reading Text 30 marks

2] Readtheinstructions car. efully and do not exceed the word limit.
3] Follow the sequence of the question paper.

SECTION A: [LANGUAGE] (20 marks)

8

i , 1] Read the following Passage carefully 18]
: Time management is the act of planning and managing time that is spent on various activities. It helps us
to work smarter instead of harder

and it also enables us to get more work done in less amount of time.
Planning the time may seem as a wastage of time in itself; however, the benefits of time management are
enormous. The results of better time management are-less stress, increased productivity and efficiency,
professional and personal growth etc.
Time is limited and hence, it is important that we plan our time wisely and make the best use of the limited
hours in a day. We need to learn to use time effectively because we cannot store or save it for later use and
also we cannot retrieve the time that has been wasted. If we have to manage time effectively, we need to be
organized and focused.

Time management techniques includes effective planning of activities, setting of goals, setting deadlines,
v delegating work, prioritizing our activities etc. The major benefits of using time management techniques is
o that we can accomplish more with lesser efforts. Most people feel. that they always have too much to do and
within too little time. Managing time wisely will help to find the rl'ght_ balance bf:tween time and work. A
- few people resort to multi- tasking in order to get the wqu done wuh-m the spemﬁec_i time. limit.
At times, this may result in poor performance in the various .tasks a551gned. The major mistake committed
while working is when one is in rush to meet the deadline without taking proper break§ for rest or
relaxation. It is impossible for anyone to foqus on work and to p¥oduce good results withouyt considering any
break in between. It helps to perform better if one tak.es a five minute br_eak every two hours of work. Proper
time management is the cornerstone of a successful life and ensures achievement of one’s goals in a healthy
‘manner. G :

Lang ﬂlEfOIIOng questions briefly:

1) Whatis time management?
- 2) State two ways in which time ; gp_a_t_gem?? hellpos us.

3) Why do we need to learn tO'ust?‘tlme»Effec.‘:Y:nYt;)‘

4) What are the results of better tllfnl'flzn I'mtl:igienncll e

5) What does time management tec Iniqu O e L

6) What are the major benefits of using time management techniques? . . |

7) H ine time wisely help people who feel that they have too little time to do their work?
8; W(;:; gges gﬁpag;nfh;rrltl break in between sessions of work helpful for better resultg?

1|Page

S R e Rt e
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1) Read the passage carcfully: 12Marks]

1) " Teenagers 7 Stress 2 you must be joking." lh?s is probably {he feaction when gsked whether teenagers
get fretful and apprehensive. for it is generally believed that they haye " no re . a.s e -W vorries and
no duties." but that is not true. In today's competitive world | one needs 1, sllL ~Sp0ns}bm“cs’} " ‘makc it in
this dynamic, yet uncertain , environment that is both stressfy] and any; It'lgglc a.nd fight to face a
myriad of pressures, three of which are briefly discussed here. ety including. Teenagers

The pressure to perform i.e. to do well academically comes frop, parents
aptitude tests or respecting the students preferences pushes them into fi
for which they are not equipped .

2) Apart from the pressure to' perform well, they are often burdepe With the pressure to conform to the
norms laid down by society. Next , teenagers are pressurized to refory themselves . This is commonly
experienced especially by students in the group of 13 to 17 years. Everybody is telling them when to wake
up and what to do.

3) Here's what you can do to deal with these pressures. As a result of pressure teenagers are often found to
be anxious. A sign to anxiety is holding one's breath. The easy Way out is to take deep breath at regular
intervals, trying to calm your mind.

4) Modern life's competitiveness and challenges put a tremendous load of work op teenagers . They need to =
understand that they are strong enough to handle the tough challenges in life-studying and assignments
being two of them . Procrastinators i.e. people who habitually delay and postpone doing their work, need to
cultivate " the art of starting " and this involves dealing with the minor discomfort experienced while
beginning a task. Once a job has started , it is much easier to continue.

Some students worry about factors like social and financial status, intelligence and habits that might make
them different from their peer. Effective stress management lies in having a healthy attitude towards
competition, work , friends and acquaintances. It lies in taking life as it comes , doing your best and being
prepared for the worst .

» teachers and peers. The Jlack of
¢lds which may not interest them or

- a)  Answer the following question briefly: [2x4 =8]

1. What do you mean by effective stress management ?

2. Who are procrastinators? How can procrastination be overcome?
3. Give an example of how a teenager can deal with pressures.

4. Whatkind of pressures are faced by teenagers?

b)) Answer the following question : G [1%4 = 4] \
5. The word in the first which means the same as "troubled state of mind "is...... |

~+ 6. The word in the first paragraph which is a synonym of ‘adolescent’ is ...
7. The word in the fourth paragraph which is an antonym of ‘Ease’ is.....---
8. The word in the last paragraph which is an antonym of unhealthy........

[30Marks]
SECTION-B

[8 Marks]

R G S G i1 ideas from the hints given
IID) You have experienced a very hot summer the previous year-’Tf;k‘“f;l‘i;:icr in cities and what can
- below write an article for your school magazines on ‘Wh)f Is 1 ouparticle:

be done to improve the environment.” Give a suitable heading 10
- .Global warming : 2
- Heat from streets / vehicles.
- Exhausts and fumes from factories / homes / car-

2|page
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e iy OR
" You won the *Student of the : . . .
hfﬂi;‘iy'%_’mbelow, Year trophy, Make a diary entry expressing in 100- 150 words using the
i (1pgq w > p, ,‘HT—‘—’N
Best student award foy ¢xcellence in studies as well as achievement in co-curricular activities--- Joy

] ﬁ;’;;;"’:nf:: bﬂUﬂdSm—parcnls have decided to gift a laptop. Friends and teachers appreciate ----- proud

e a short story in 150 -200 words. You can begin the
story with the hints given in the hox and give a suitable title.

’ 1V) Based on the visual input given helow writ

A

[10marks]

] On way 10 school--- chaos on main road---accident at metro construction site----scene of the accident —-

student volunteers help in controlling

V) In the following passage, there is one error in each line. Write the incorrect and the
correct word in your answer seript. [4marks]
Incorrect correct

a) ‘Thousands of bat$ emerge . a) -
b) from under the bridge. It were | b)
- ¢) a Amazing sight. ] learnt )
d) alot of fact about these creatures. . d) S
Vi) Rea‘.l'ra;l‘;;’vé theglvenwords to form meaningful sentences.

a) In an area/his plane crashed/of mountains
3{Page :
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nel/from prison by
emy soldiers/he was captured

d that/ would rescue us

b) He escaped/digging a tu}
¢) And kept in prison/by enc
d) A passing ship/ we hope

VII) Fill in the blanks with the correct options given below:

[4 Marks]

Education is defined as (1) ability of a person to read (2) write.
3) sadly, millions of children4)_____ uncducated in India.
1)  a)the b) an c) some d) any
2)  a)and b) but c) as d) while
3) a) yet b) what c) but d) perhaps
4) a) aren’t b) are c) our d) were
SECTION - C (30 Marks] @
[LITERATURE AND SUPPLEMENTARY READING TEXT]
VIII) Read one of the extract given below and answer the questions that follows :-] [1x4 =4 Marks
“ Kalam ,I want you fo develop so that you are at par with the highly educated people of big
cities.”
a) Who is the speaker of these words in the above extract?
b) What did he dream about Kalam's future?
c¢) Explain the term ‘at par?
d) Which quality does he admire about the people of big cities?
OR
Along the sand

he lay until observed

and chased away ,and now

he vanishes in the ripples

~ among the green slim reeds

~a) Whois "he"' in the above extract?
i by Where was he lying ? ?
c) Why did he vanish in the ripples ?
'_d) F 1nd a word which is similar to "thm

IX) Answer any 5 of the followmg questlons m about 30 40 words :

Ql 111 What way dld Margle and Tommy recelve their education ?

Q2. I ow d1d Bruno become attached to the family of the author ?
Q3‘.:What EffeCt dld the deep slumber have on the beloved of the aut

fﬁlPage'n

[2x5=10]

hor, after her death?
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Q4. What is the significance

LT IR — ‘_‘/,

of the ivy leaves 2

N

Q

/ S
- What happens when the 4; hi :
P on his carry—bag gives way?

Q6. What are the two strange things the guru and his disciple find in the kingdom of Fools?

X) Answer any onc of the following questions in 100-150 words : [8]

1) What is Gerrard’s Profession? Quote the parts of the play to support your answer.

OR
2) "To hear any flute is to be drawn in the commonality of all mankind". Why does the
author say this ?

| X)  Answer any one of the following questions in 100- 150 words :- [8]
‘; 5! Give a character sketch of Lushkoff.
i OR

Justify the title A House is not a Home ".
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ANNUAL PROMOTION EXAMINATION- 2019

S CLASS IX
: — SUBJECT: MATHEMATICS

TIME: 3 Hrs. M.M: 80

GENERAL INSTRUCTIONS ———— —

. /_;II]I questions are compulsory
° e i . ’ i
D. question paper consists of 30 questions divided into 4 sections- A, B, C and
SECTION-A
;- :Exprgss ¥ +4 = Syinthe form of ax + by + ¢ = 0 and indicate the values of a, b and ¢,
3_ 1[1hwh|ch quadrant will point (=5,-3) lie
- The perimeter of one face of a cube s 7 i its edges.
4 Find the Sars 5 a5 & e is 72cm. Find the length of its edg
S. Is_ it poss@le to construct a triangle of sides 6¢m, 4cm and 12cm?
6. Find a rational number between -5 and -4.
: : SECTION-B

7. In the given figure 04B is an equilateral triangle, 0 is the center, Find

2ACB.
8. Qonstruct an isosceles right angle triangle in which length of each side A

ls.4.2c:m. Find the length of hypotenuse by measuring it. S B
9. Find the volume of cone whose radius is 14cm and A

height is 12cm.

10.1n the given figure, D and E are the mid points of sides
BC and AC of AABC. Find the area of ABED, if area of
AABC is 60cm?.

11.1f the point (1,2) lies on the line of graph 3y = kx + 5,
then find the value of k. .
12 Three coins are tossed simultaneously 200 times with the following frequencies of different
outcomes: : S
Outcomes 3 heads 2 heads 1 head No head

Frequency 23 72 77 28

[Fihe three coins are simultaneously tosses again, compute the probability of

a. two heads coming up.

oming up.
b. one head coming up SECTION C

13.The record of a weather station shows that out of the past 250 consecutive days its weather

forecasts were correct 175 times :
“a. What is the probability that on a day it was correct
b.. What is the probability that it was not corrept on a given day
14.Find the total surface area of a sphere whose radius is 7cm.
15.Find the mean 23, 27,30,40,32,18,19,11.
16.AD and BC are equal perpendiculars to a line segment AB. Show that B
CD bisects AB. : ‘ i
17.Give the geometric representation of 2x+9=0 as an equatron in-
i. One variable & : 7 A
ii. Two variables 2 : o
18.D, E and F are respectively the mid-points of the s;des.BC, CA and AB
of a AABC. Show that : ; :

: eor T T — I n———
= T L e L i A e A SR R e et B e RS

B
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I I R] B RTINS |N||l|”“|””“”“
W () = '. i (AN

~

W (BDEE) = | A (ARe)

A
W Dyaw tha graplh for e e a7 5
f P & ]
SO0 heok w4ty v # tuotar 0

2110t given fgure, ¢ 101 P they oy i \X
| AP PR , ; '/ i
i _‘ ( - GO 100 00,6 P f '
L 22 T ind e median 46,A5,60,91.A40,12,B0, ' A
iR SECTION 1)
24 The capacily of a cuboidal ank s BON00 Nitres of viter Find the /
 Drendih of e tank, If its angth and deapth e raspactivaly 2 G o
10 _ 10 Bhow th
A 00 the fig |, 1 s any point on median AL of a ARG Ghow thiat
ar(ABE) = ar(AGL), o R —— \
26 Find the ares of A liiangle, wo sides of which ares Bom an oI ; % C

and the parimetar 16 326,

20, ABG s a triangle Iin which altitudas BE and CF o sides AG and /41
are aqual, Show thal
i, AABE & ANCF '
i, A= AC, Lo, ABC I8 an lsoscelos trangls,

| 97 1f thes non-parallsl sides of a trapezium are syual, prove that it is m C
‘ Gyelic, )
26, (I}};m,e.;l_n.m!, i tiiangla POR in which QR = Gem, 20 = 60" and Pi- PQ = Zem,
| 56,100 surnames were randomly picked up from a local telephone directory and a frequency
| distribution of the number of ltters In English alphabet in the surnames was found as
follows: L i
| T Number of Iettors Numbar of surnames
| , e i 0
@ 44
T LA L *
SRR T B 4
0. Draw a histogram to deplet the given information. i
i, Write the class interval in which the maximum numbor of SUMames llu;m) e )
20 In paralielogram ABCD, twa points 12 and € arG taken on dingonial BD such that DI = B&
- Bhow that: Bt
i MAPD ACOE
C AR CQ
il AAGE = ACPD

i ‘ hhhr
PP T T T Ll
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